—-x+y=1%ax-y=5%

>~

HJ—X(—)] Al

]_

&4 2a O] F2?

0l %
=

=
T

@ 18 ® 22 @ 24 ®)26

O 13

el K 1__/|

Il 0

~ I

H o

o _

T

o)

-~ B

[

&,

+ BT

— N

_ 0

B

——

jo -~

o S

T 8

ofu el iy

=N e ©
I —

= = wo |

Conl — — B

— I I M

[

) T _4._
rA

T ow oS

rE T




— :7
VT ot () 2. 2p g O B2 Y
2xty=p

re

%%@a{
ofet,
B

| 2
> &He 2p-qg=13

=

B
{x_y:7...@

2x+y=p---©
A, @A x =4,y = ¢ & WYt g TS ST

4-qg="T7,9=-3
O x =4,y =g = -3 = Yot p = T3t

8-3=p, p=5>
SL2p—q=10+3=13




N7} (a, b) D W, a+ b °] FS 5t

x=2y=3---0Q
3x+y=2---O
@ +2xO2 st4H

—2y=3
+) 62+2y=4
Tx =7




M (a+2 at1) o] AUFEA 20 -3y =6, -3x+ by =1 9
A, 4 a, b 2 ZFa-b 2 2?2

2 M

®-4+ @7 ®-9 @-12 O -13

B ~

(a+2, a+1) = 2x-3y=06°] YA —a+ 1 = 6, TFHA]

a
x=-5+2=-3,y=-5+1=—-47F Y2}
(-3, —4) & -3x + by = 1 o] thystH
(-3)x (-3)—4xb=1

et b =2 71 dt.

Ta-b=-5-2=-7




